Mixed Operations

Class:

Name:
Calculate
145 + 5 x
220 = 4 x
616 + 7 x
408 + 6 x
195 + 3 x
352 + 8 x
148 + 4 x
266 + 7 X
416 + 4 x
270 + 3 x
345 + 5 x
276 + 3 x

168 + 3 x 9 =
336 + 8§ x 4 =
612 + 6 x 3 =
144 + 4 x 5 =
212 + 2 x 7 =
360 + 8 x 4 =
603 + 9 x 5 =
475 + 5x 9 =
330 + 6 x 8 =
495 + 5 x 7 =
148 + 2 x 5 =
815 + 5 x 6 =
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Calculate
145 =+ 5 x
220 + 4 x
616 + 7 x
408 + 6 X
195 + 3 x
352 + 8§ x
148 + 4 x
266 + 7 x

416 =

270 =

345 -

276 =

9 =261
6 =330
5 =440
3 =204
9 =585
7 =308
7 =259
3 =114
7 =728
8 =720
4 =276
7 = 644
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Answers

+3x9 =504
+ 8 x4 =168
+ 6 x 3 =306
+4 x5 =180
+2x 7 =742
+ 8 x4 =180
+9 x5 =335
+ 5 x 9 =855
+ 6 x 8 =440
+5x 7 =693
+2 x5 =370
+5x 6 =978
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